Algebra 2 - Unit 3 Review = Polynomial Functions Name \ E ‘7;

1, Describe how the degree of a function affects the end behavior of that function.
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2. Describe how the leading coefficient of a function affects the end hehavior ot that function.
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3. Sketch the graph of a polynomial that has an even degree and a positive leading coefficient,
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4. Sketch the graph of a polynomial function that has a degree of 4, 4 real zeros, and a negative leading
coefficient.
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5. Use the graph below to answer the following guestions:

a. Isthe degree of this function even or odd? How do you know?
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b. What type of polynomial is modeled by this graph? How do you know?
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c. How many real roots does this polynomial have? How do you know?
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d. How many imaginary roots does this polynomial have? How do you know?
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e. lIsthe leading coefficient of this polynomial positive or negative? How do you know?
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6. Given each polynotial f and a zero of f, use synthetic division, factoring, and/or the quadratic formula
to find the other zeros.

a. f(x)=x+6x+5x-12;1
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7. Find all real zeros of tﬁgfunction (x)=x" =3x* —35x* +15x% +4x—12.
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and zeros at -4, 1, and 5.
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Write a potynomial function f of least degree that has rational coefficients, a leading coefficient of 1,
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9. A guartic {degree 4) polynomial has roots 4 +2i and -3 —2\/5 . What are the remaining roots?
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10. Write a polynomial in standard form that could be modeled by the graph below. Please note the

function passes through the point (7, -8).
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